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1) Beraucsmts npousBogHyto y' auist GyHKImiL:

a) y=5% " — tg(720) (6e3 ynporenus);
6) y=In(1+Vz+4) —Vo+4 (¢ ymuporenuem);
B) y=axV9— 2?4 Jarcsin % (¢ ymporreHueMm).
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a) (o) =1+ VE = 1= Va mpn w0 (F(2) ~ V.
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p+2 4

B) H(p)=1In npu p — o0 (pr—,
) 1) -l W)~
In1

r) Zp, = V10 -1 upu n — oo (:pnwn—o,
n

T ow n

) yn—tg<§—ﬁ) upu 1 — 00 (ynw;,

3) Bbraucauth mpejiebr:

(=)

™

r+2\" 2z +1\"
li =0); 6) i =e);
a) Mim (2:5—1) (=0); ) Jm (2:::—1) (=e);
) 1422\ " 4 . . 1/z
B) 91015)1(1) (1—2x> (=e"); r) 916111(1) (sin 2z + cos 2x)
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K) lim n(%—l) (=1n3).
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a) Yy = Cos; 6)y:$(1—_x); B) y= —

OtrBeThl: a) cos (x—l—%); 6) n!<(_1) n 1 );
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